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Exponents
Use the product of powers property to simplify the expression. 
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[image: image4.png]Use the power of a power property to simplify the expression.
10. (4)? 11. (-=5) 12. (6?)!
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[image: image7.png]Simplify, if possible. Write your answer as a power or as a product of powers.
19. 42 - 43 20. (92) 21. (—4a)?
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26. (8ab)? - 4a°
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[image: image11.png]Simplify. Then evaluate the expression when x =2 and y = 2.
31. 32 - y* 32. (x?)? 33, (—x) - 22




[image: image12.png]34, (x - y3)3 35. —(x3y)? 36. (v - y) - (0)*




[image: image13.png]37. Probability A multiple choice test has two parts. There are 4'2 ways to
answer the 12 questions in Part A. There are 43 ways to answer the 5
questions in Part B. How many ways are there to answer all 17 questions?

If you guess each answer, what is the probability you will get them all
right?




[image: image14.png]38. Nickels Someone offers to double the amount of money you have every
day for 1 month (30 days). You have I nickel. On the first day, you will
have 2 nickels worth $.10. On the second day, you will have 4 nickels
worth $.20. How much money will you have on the 30th day? Use the
expression 0.05 + (2)* to answer the question.




[image: image15.png]39. Maps The scale of a square map indicates that each inch on the map
corresponds to 5 miles. Write an expression that describes the area of

land shown on the map. If the map is 8 inches on one side. what is the
area of land shown on the map?





Evaluate the exponential expression.  Write your answer as a fraction in simplest form. 
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Rewrite the expression with positive exponents.
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[image: image24.png]Use the quotient of powers property to simplify the expression.
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[image: image25.png]Use the power of a quotient property to simplify the expression.
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[image: image26.png]Evaluate the expression. Write your answer as a fraction in
simplest form.
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[image: image28.png]Simplify the expression. The simplified expression should have no
negative exponents.
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Scientific Notation

[image: image32.png]Rewrite in decimal form.
1. 9.99 x 10° 2. 1.356 x 1073 3. 6.01 x 10!




[image: image33.png]4. 7.00563 x 10* 5.32x 107* 6. 3.50086 x 10°




[image: image34.png]7. 7.78895233146 x 10'° 8. 0.206230 x 107 9. 8.623514 x 103




[image: image35.png]Rewrite in scientific notation.
10. 0.032 11. 33.254.236 12. 87.000




[image: image36.png]13. 0.0000222 14. 0.00099578 15. 70.000.000




[image: image37.png]16. 0.852246 17. 0.000000008 18. 12.840,000,000




[image: image38.png]Evaluate the expression without a calculator. Write the result in
decimal form.

19. (9 % 1073) - (8 x 10°9) 20. (4 % 107) - (12 x 107?) 21. (6.8 x 102) « (5 x 10°)




[image: image39.png]22. (42 % 1076) - (2 x 109) 23. (3.1 % 109) « (4 x 10%) 24. (0.7 x 107%) - (5.4 x 107 1)
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Evaluate the expression without a calculator.  Write the result in decimal form. 
[image: image41.png]28. (4.0 x 1032 29. (2 x 1073 30. (125 x 1071)~*




[image: image42.png]Write the number in scientific notation.

31. Human Cells The body of a human has 32. Human Ears The human ear grows about
more than 1.000,000.000.000 cells. 0.0087 inch in one year. How much does the
ear grow in one month?




[image: image43.png]33.

Earth’s Diameter The polar diameter of
Earth is approximately 7900 miles. There are
approximately 161,000 cm in one mile. What
is the polar diameter of Earth in cm?

34. Mass of Helium Atom A proton (P) and a
neutron (N) each weigh 1.67 x 1072 gram.
An electron weighs 9.11 x 10728 gram. Find
the mass of one helium atom.

Electrons




[image: image44.png]35. Surface Area The total surface area of Earth is about 1.97 x 10% square
miles. The surface area of land on Earth is about 5.73 x 107 square miles.
Find the ratio of surface area of land to that of the entire planet.
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